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注 意 事 項  

机の上には受琴票、筆記用具、時計以外は置いてはいけません。  

合図があるまで問題冊子を開いてはいけません。  

試験時間は9：00から11：30までです。  

問題はⅠ、Ⅱ、Ⅲゐ3間で、受験者全員に共通の問題です。  

解答はすべて解答用紙に記入します。解答は大間1題毎に解答用紙を別に  

します。解答用紙の所定の欄に受験番号・氏名・志望分野および問題番号  

を記入します。   



問題l次の英文を読み、下の間（問1、間2）に答えよ。   

Disastershappenwhennature’sextremeforcesstrikeexposedpeopleandproperty．  

Theserecurringnaturalphenomena，SuChasnoods，hurricanes，andearthquakes，are  

knownasnaturalhazardevents．Whennatura】hazardeventstakeplaceinunPOPulated  

areas，nOdisasteroccurs，Whentheytakeplaceindevelopedareas，damaginglifband  

property，theyarecallednaturaldisasters．（1）  Thema  nitudeofadisasterde  endsonthe  

thenumberof  ofthenaturalhazardevent  intensit  1eandstructuresex  OSedtoit  

andthee飴ctivenessofpre－eⅦntmiti阻tionactionsinDrOteCtingt）eOロ1eandDrOpert  

什om hazardforces．  

Natural disasters have rown1ar  】e and  have become  
（2）  

exDOSedtonaturalhazards．Unfbrtunately，theplaceswherehazardsoccurareo住enthe  

le want tolive－alon  OCean Shores and rivelせonts or near  1aces where  

uake鈷ults．  As moreurbandevelopmenttakes placeinsuchhigh－hazard areas，  

theriskofdamageandinjury危・Omdisastersmultiplies．Duringthe丘rsthalfofthe1990s，  

the United States su鮎red unparalleled damage危・Om natura］disasters．Hurricanes，  

fl00ds，earthquakes，and other naturaldisasters caused bi】1ions ofdollarsindamage，  

destroyedhomesandbusinesses，andcutoffroads，bridges，WaterSyStemS，andother  

Publicin危・aStruCture．  

Yet much of the dama e and su飴rjn  育om naturaldisasters can be  revented．  

Naturalha乙ardeventscannotber）reVented育OmOCCurring．buttheirimDaCtSOnDeODle  

can be reducedifadvance actionis taken to miti  ate risks andminimize  

tonaturaldisasters．   vulnerabilit  

出典：D．Godschalk et al．（1999）Naturalhazardmitigation：reCaSting disaster  

policyandp】anning，（slandPressから抜粋   

参考 vu1nerability：脆弱性 mitigate：軽減する  

間1下線部（1）～（3）を和訳せよ。なお、disaster（s）とhazard（s）は、それぞれディザスター、   

ハザードとすること。  

間2ディザスターとハザードの違いを、本文に即して3行程度で説明せよ。   



問題Ⅱ 以下の英文の下線部（1）～（3）を和訳せよ。  

The evolutionoftheEarth’s climateis relatedverymuchtothehistoryofthe  

developmentofthesunandthedegassingoftheEarth．（l）  The sun4．6billion  

was 25－30％ dimmer thanitis now．Since then  it has  ressivel increased its 

ut．IftheEarth’sa，tmOS  radiationout   hereha，dha，dthesamecom  ositionthena，S nOW  

thislower solarradia，tion out  utwouldhave a，1lowedthe Earthto be coveredinicefbr  

the tirst two billion ea，rS Ofits existence．But the  icalrecordindica，teS tha，tthe  

Eaれh hadli  uid oceans as earl  as3．8billion  and no  1aciationunti12．7  

This dichotomyisknownas the’鮎ntsun paradox．Atpresentthe  billion  

Earth’s surfacereceives onlyhalfofthesolarradiationimpinginguponits diskasit  

Orbitsthesun・Re鮎ctanceandatmosphericinterfbrenceaccountfbrtherest・（2）王宣＿主垣  

Earth was notice－lockedinits earl  then its surface would have needed to 

receive most ofthe solarradiation emanating打orn afhintersun．This could have been  

if there were unrealisticall  fewer clouds andless moisture in the  ossible onl  

viable mechanismtone  here tha，n at  resent．Sothe onl  atethe conse  

ofa’faint sun’hadtobeadobalwarmimzcausedbvanenhanCed’訂eenhouse’e飴ct   

that was deDendent uDOnlarge amOuntS Of carbon d10Ⅹ1de．in the Earth’s e   

atmos13here．   

GeologicalevidencesupportsthlS enhanced caJ・bondioxide－induced’greenhouse’  

effbct．TheamountofcarbondlOXide（C02）presentincarbonaterocksintheEarth’s  

cruStisequivalenttosixtytimes（60bars）presentatmosphericpressure・Atpresentthe  

partialpressure ofcarbondioxideinthe atmosphereisonlyO．0003barS．0nbTafbw  

tenthsofabarwouldhavebeenneededtocompensateforthe’fhintsun’paradox・佃  

HoweverthecarbondioxideintheEarth’satmos  heremusthave decreased at  :the 

ensatefbrthesteadil  rincreasin radiationout  utofthesun．  htrateovertimetocom  

Such a delicate balance was not easil  maintainedforlon  eriods．A mechanism was  

needed to modulate periods of excessive carbon dioxide in the atmosphere and 

variabilityinsolaractivity．   

出典：E．Bryant（1997）CLIMATE，PROCESS＆CHANGE，CambridgePressから  

抜粋   

参考 negate：否定する   



問題Ⅲ 以下の文章の下線部（1）～（3）を英訳せよ。  

水は異なる3つの状態（固体・液体・気体）として存在する。（1）  液体の水はどこにでもあ  

り、水道の蛇口をひねればでてくるし、雨として降ってきたり、   川を流れていたりする。純  

粋な液体の水は、塩分も瓦礫も土砂も、またごみもはいっていない。（2）  氷や雪、霜は水  

が固体状態になった例である。液体の水は摂氏0  り、冬は固イ   の水がいくらでも  

見られる季節である。  そのほか固体の水の例としては角氷やつらら、スケートリンクの氷  

などがある。水は蒸発して気体になり、その気体は色もなければにおいもない。（。）旦塵  

液体から気体へと変化すること  から液体   またはその逆の過程を相変  水のよ  

うな物質は相変  ヒ学的な変化はおきない  融解や凍結、凝縮、蒸発は  ヒをおこしても、  

相変化の例である。物質がどのような相になるかは温度と圧力で決まる。  

参考 蛇口：fhucet相：phase   


